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o= 2(¥x)
Gx-207 2(3x-Y)
Qy-20% x-8
gx -20 ~Q
Exz iz
X =y

' Midsegment Theorem Worksheet Name: Assume the middle line is a midsegment in the problems below:
, Use the diagram of A4BC where D, E, and F are the midpoints of the sides. NVA \me - N\ /NLA - @d
B
L R _BC 2x 48z Ux -l
“ 2. m.m_ MWN? mw - M\Vﬂx/mﬁ
3. IfAB=14,thenEF=_ T ° F -
2\ = 2X
4, If AE = 8, then DF = m iw;\i%vm
5. IfDE=6,thenBC=_} 2 As Y . 2x+8 E
' Use the diagram of AJKL whete R, S, and T are midpoints of the sides, RK =3, KS = 4, and KLEKL JL=1{0
= ’ 10
6. Find the length of RS. 25 = O 3 ‘\/\F
7. Find the length of JK. HW =, RIT 4 .._MNXH 2 CA -2 ,
— R
i RT=M ok Jm
8. Find the length of RT s ) dﬂu N - N x - o x-3
K v S U L '
9. Find the perimeter of AJKL. NL\ rﬁ. 4. LS X= © =~
- LSO R- T
i Use the diagram of AMNO where X, Y, and Z are midpoints of the sides. rua
10, IYZ=3x+1, and MN = 10x = 6 then YZ= - _ N = 2(2Y) < = 4 -
| MO=2 (V%) M. lox-ez 2(3x+1) N
Il KYX=x-1,andMO=3x-T,thenMO=_D  3y.3=2(x) 10X~z lextl :
: Zy-3r -2
@ N wlg 2
© 12, If mZMON = 48° then mLMZX = L.@ X-F=L ixLx =g
X=5 .
B ~ &
13 I mAMKZ =37, then maMNO = O MOEB(SYe \ X=2 s Lxw
28] o Tty U Ny = 3R 2x-vz 2( 2x¥3)
RV -
Use the diagram of AMNO where, X, Y, and Z are the B_&uo_:m llw &~ X A..hu - ,NA ‘f (U
14, IfYZ=2x+3,and MN=5x~14, then YZ=___ 43 X W = ﬂo
T 22)  x=2o yazz2(z0)+3 M 2x-6 . T
Sx-t4z2(2x+3) Y= 43l K=
mﬂx‘mﬁ«iw t z X
Fiys
15.  IfYX=3x~4, and MO = 9x — 20, then zonl_.wnl
iy 11
Tt Tt N
Y




